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6500#show interfaces tenGigabitEthernet 2/1
TenGigabitEthernet2/1 is up, line protocol is up (connected)
Hardware is C6k 10000Mb 802.3, address is 0002.fccl.2lac (bia 0002.fccl.2lac)
MTU 1500 bytes, BW 10000000 Kbit, DLY 10 usec,

reliability 255/255, txload 1/255, rxload 251/255
Encapsulation ARPA, loopback not set

Keepalive set (10 sec)

Full-duplex, 10Gb/s, media type is 10Gbase-SR

input flow-control is on, output flow-control is off

ARP type: ARPA, ARP Timeout 04:00:00

Last input never, output 00:00:51, output hang never

Last clearing of "show interface" counters 00:00:13

Input queue: 0/2000/5597178/0 (size/max/drops/flushes); Total output drops: 0
Queueing strategy: fifo

Output queue: 0/40 (size/max)

30 second input rate 9868906000 bits/sec, 822409 packets/sec
30 second output rate 3000 bits/sec, 5 packets/sec

10968368 packets input, 16452552000 bytes, 0 no buffer
Received 0 broadcasts (0 multicasts)

0 runts, 0 giants, 0 throttles

0 input errors, 0 CRC, 0 frame, 5597195 overrun, 0 ignored

0 watchdog, 0 multicast, 0 pause input

0 input packets with dribble condition detected

79 packets output, 5596 bytes, 0 underruns

output errors, 0 collisions, 0 interface resets

babbles, 0 late collision, 0 deferred

lost carrier, 0 no carrier, 0 PAUSE output

o O O O

output buffer failures, 0 output buffers swapped out

6500#show interfaces tenGigabitEthernet 2/2

TenGigabitEthernet2/2 is up, line protocol is up (connected)

Hardware is C6k 10000Mb 802.3, address is 0002.fccl.2lad (bia 0002.fccl.21lad)
MTU 1500 bytes, BW 10000000 Kbit, DLY 10 usec,

reliability 255/255, txload 1/255, rxload 251/255

Encapsulation ARPA, loopback not set

Keepalive set (10 sec)

Full-duplex, 10Gb/s, media type is 10Gbase-SR

input flow-control is on, output flow-control is off

ARP type: ARPA, ARP Timeout 04:00:00

Last input never, output 00:00:26, output hang never

Last clearing of "show interface" counters 00:00:03

Input queue: 0/2000/45043/0 (size/max/drops/flushes); Total output drops: 0
Queueing strategy: fifo

Output queue: 0/40 (size/max)

30 second input rate 9868149000 bits/sec, 822345 packets/sec

30 second output rate 2000 bits/sec, 4 packets/sec

8823464 packets input, 13233496000 bytes, 0 no buffer
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Received 0 broadcasts (0 multicasts)

runts, 0 giants, 0 throttles

input errors, 0 CRC, 0 frame, 4575029 overrun, 0 ignored
watchdog, 0 multicast, 0 pause input

input packets with dribble condition detected

packets output, 0 bytes, 0 underruns

output errors, 0 collisions, 0 interface resets

babbles, 0 late collision, 0 deferred

lost carrier, 0 no carrier, 0 PAUSE output

O O O O O O o o o

output buffer failures, 0 output buffers swapped out
3) KX O REEMNER,

6500#show interfaces tenGigabitEthernet 2/1
TenGigabitEthernet2/1 is up, line protocol is up (connected)

Hardware is C6k 10000Mb 802.3, address is 0002.fccl.2lac (bia 0002.fccl.2lac)

MTU 1500 bytes, BW 10000000 Kbit, DLY 10 usec,
reliability 255/255, txload 1/255, rxload 251/255
Encapsulation ARPA, loopback not set

Keepalive set (10 sec)

Full-duplex, 10Gb/s, media type is 10Gbase-SR

input flow-control is on, output flow-control is off
ARP type: ARPA, ARP Timeout 04:00:00

Last input never, output 00:00:51, output hang never
Last clearing of "show interface" counters 00:00:13

Input queue: 0/2000/5597178/0 (size/max/drops/flushes); Total output drops:

Queueing strategy: fifo

Output queue: 0/40 (size/max)

30 second input rate 9868906000 bits/sec, 822409 packets/sec
30 second output rate 3000 bits/sec, 5 packets/sec
10968368 packets input, 16452552000 bytes, 0 no buffer
Received 0 broadcasts (0 multicasts)

0 runts, 0 giants, 0 throttles

0 input errors, 0 CRC, 0 frame, 5597195 overrun, 0 ignored
0 watchdog, 0 multicast, 0 pause input

0 input packets with dribble condition detected

79 packets output, 5596 bytes, 0 underruns

output errors, 0 collisions, 0 interface resets

babbles, 0 late collision, 0 deferred

lost carrier, 0 no carrier, 0 PAUSE output

o O O O

output buffer failures, 0 output buffers swapped out

6500#show interfaces tenGigabitEthernet 2/2
TenGigabitEthernet2/2 is up, line protocol is up (connected)

0

Hardware is C6k 10000Mb 802.3, address is 0002.fccl.2lad (bia 0002.fccl.2lad)

MTU 1500 bytes, BW 10000000 Kbit, DLY 10 usec,

reliability 255/255, txload 1/255, rxload 251/255
Encapsulation ARPA, loopback not set

Keepalive set (10 sec)

Full-duplex, 10Gb/s, media type is 10Gbase-SR

input flow-control is on, output flow-control is off

ARP type: ARPA, ARP Timeout 04:00:00

Last input never, output 00:00:26, output hang never

Last clearing of "show interface" counters 00:00:03

Input queue: 0/2000/45043/0 (size/max/drops/flushes); Total output drops:
Queueing strategy: fifo

Output queue: 0/40 (size/max)

30 second input rate 9868149000 bits/sec, 822345 packets/sec
30 second output rate 2000 bits/sec, 4 packets/sec

8823464 packets input, 13233496000 bytes, 0 no buffer
Received 0 broadcasts (0 multicasts)

0 runts, 0 giants, 0 throttles

0 input errors, 0 CRC, 0 frame, 4575029 overrun, 0 ignored

0



O O O O O O o

watchdog, 0 multicast, 0 pause input

input packets with dribble condition detected
packets output, 0 bytes, 0 underruns

output errors, 0 collisions, 0 interface resets
babbles, 0 late collision, 0 deferred

lost carrier, 0 no carrier, 0 PAUSE output

output buffer failures, 0 output buffers swapped

4) RUFERFEOF AR EX ERIRE R,

6500#show fabric utilization

slot channel speed Ingress % Egress
2 0 20G 0
2 1 20G 49
3 0 20G 0
3 1 20G 0
5 0 20G 0
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6500#show platform hardware capacity rewrite-engine performance slot 2

slot channel perf_id description packets total overruns

————m—————— e e B e +

2 0 0x235 FAB RX 0 41083 0

2 0 0x237 FAB RX 1 0 0

2 0 0x27B FAB TX 0 1904 0

2 0 0x27F FAB TX 1 0 0

2 0 0x350 REPLICATION ML3 0 0

2 0 0x351 REPLICATION ML2 0 0

2 0 0x352 RECIRC L2 0 0

2 0 0x353 RECIRC L3 0 0

2 0 0x34C SPAN TX 0 0 0

2 0 0x34D SPAN TX 1 0 0

2 0 0x34E SPAN RX 0 0 0

2 0 0x34F SPAN RX 1 0 0

2 0 0x354 SPAN TERMINATION 0 0

2 1 0x235 FAB RX 0 759500888 0

2 1 0x237 FAB RX 1 0 0

2 1 0x27B FAB TX 0 4545890286 0

2 1 0x27F FAB TX 1 0 0

2 1 0x350 REPLICATION ML3 0 0

2 1 0x351 REPLICATION ML2 0 0

2 1 0x352 RECIRC L2 68615145 1047 <<< L2 Recirculation

2 1 0x353 RECIRC L3 0 0

2 1 0x34C SPAN TX 0 0 0

2 1 0x34D SPAN TX 1 0 0

2 1 0x34E SPAN RX 0 0 0

2 1 0x34F SPAN RX 1 0 0

2 1 0x354 SPAN TERMINATION 0 0
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6500#show fabric utilization

slot channel speed Ingress % Egress
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2 0 20G 0 0
2 1 20G 99 0
3 0 20G 0 0
3 1 20G 0 99
5 0 20G 0 0

TenGigabitEthernet2/1 is up, line protocol is up (connected)
Hardware is C6k 10000Mb 802.3, address is 0002.fccl.2lac (bia 0002.fccl.2lac)
MTU 1500 bytes, BW 10000000 Kbit, DLY 10 usec,

reliability 255/255, txload 1/255, rxload 251/255
Encapsulation ARPA, loopback not set
Keepalive set (10 sec)
Full-duplex, 10Gb/s, media type is 10Gbase-SR
input flow-control is on, output flow-control is off
ARP type: ARPA, ARP Timeout 04:00:00
Last input never, output 00:00:06, output hang never
Last clearing of "show interface" counters 00:36:12
Input queue: 0/2000/0/0 (size/max/drops/flushes); Total output drops: 0
Queueing strategy: fifo
Output queue: 0/40 (size/max)
30 second input rate 9868487000 bits/sec, 822374 packets/sec
30 second output rate 3000 bits/sec, 6 packets/sec
1783710310 packets input, 2675565466500 bytes, 0 no buffer
Received 0 broadcasts (0 multicasts)
0 runts, 0 giants, 0 throttles
0 input errors, 0 CRC, 0 frame, 0 overrun, 0 ignored
0 watchdog, 0 multicast, 0 pause input
0 input packets with dribble condition detected
13115 packets output, 946206 bytes, 0 underruns
0 output errors, 0 collisions, 0 interface resets
0 babbles, 0 late collision, 0 deferred
0 lost carrier, 0 no carrier, 0 PAUSE output
0 output buffer failures, 0 output buffers swapped out

TenGigabitEthernet2/2 is up, line protocol is up (connected)
Hardware is C6k 10000Mb 802.3, address is 0002.fccl.2lad (bia 0002.fccl.21lad)
MTU 1500 bytes, BW 10000000 Kbit, DLY 10 usec,

reliability 255/255, txload 1/255, rxload 251/255
Encapsulation ARPA, loopback not set
Keepalive set (10 sec)
Full-duplex, 10Gb/s, media type is 10Gbase-SR
input flow-control is on, output flow-control is off
ARP type: ARPA, ARP Timeout 04:00:00
Last input never, output 00:00:11, output hang never
Last clearing of "show interface" counters 00:37:31
Input queue: 0/2000/0/0 (size/max/drops/flushes); Total output drops: 0
Queueing strategy: fifo
Output queue: 0/40 (size/max)
30 second input rate 9868462000 bits/sec, 822371 packets/sec
30 second output rate 3000 bits/sec, 6 packets/sec
1849499775 packets input, 2774249662500 bytes, 0 no buffer
Received 0 broadcasts (0 multicasts)
0 runts, 0 giants, 0 throttles
0 input errors, 0 CRC, 0 frame, 0 overrun, 0 ignored
0 watchdog, 0 multicast, 0 pause input
0 input packets with dribble condition detected
13599 packets output, 980928 bytes, 0 underruns
0 output errors, 0 collisions, 0 interface resets
0 babbles, 0 late collision, 0 deferred
0 lost carrier, 0 no carrier, 0 PAUSE output
0 output buffer failures, 0 output buffers swapped out
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